Practice Test: Open Stax 4.4-4.5 and 4.7 Name

Find the slope of the line shown. Find the slope of the line shown.
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Find the slope of each line:
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Use the slope formula to find the slope of the line between the points (1, 2) and

(4,5).
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Use the slope formula to find the slope of the line through the points (—2, 3) and
(=7,4).
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The ‘pitch’ of a building's roof is the slope of the roof. Knowing the pitch ia important in climates
where there is heavy snowfall. If the roof is too flat, the weight of the anow may cause it to
collapse. Whal is the slope of the roof shown?
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Identify the slope and y-intercept of the line with equation y = —3z + 5.
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Identify the slope and y-intercept of the line with equation z + 2y = 6.
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Stella has a home business selling gourmet pizzas. The equation C' = 4p + 25 models the
relation between her weekly cost, C, in dollars and the number of pizzas, p, that she sells.

Find Stella’s cost for a week when she sells no pizzas.
72S

@ Find the cost for a week when she sells 15 pizzas.

() + 26 = BS
@© Interpret the slope and C-intercept of the eduation.

* SL\C 5(’“5 0 /)ni'-}u.{ W '

her cost will be 25
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Use slopes to determine ifthelines 3z — 2y = 6andy = %z -+ 1 are parallel.
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Use slopes to determine if the lines y = —4 and y = 3 are parallel.
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Use slopes and y-intercepts to determine if the lines y = 2z —3and —6z + 3y = —9 are
parallel. You may want to graph these lines, too, to see what they look like.
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Use slopes to determine if the lines, y = —5z — 4 and  — 5y = 5 are perpendicular.
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Use slopes to determine if the lines, 7z + 2y = 3 and 2z + Ty = 5 are perpendicular.
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Determine whether each ordered pair is a solution to th
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The boundary line shown is y = 2z — 1. Write the inequality l\own by the graph.

e inequality y > z + 4:
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